
© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 1

studio-tech.comReplacement Parts List

Table of Contents
Page Product

3 Model 2 Central Controller
3 Model 2A Central Controller
3 Model 22 Access Station
3 Model 24 Access Station

4 Model 32 Talent Amplifier
4 Model 32A Talent Amplifier
4 Model 33 Talent Amplifier

5 Model 33A Talent Amplifier
5 Model 34 Talent Amplifier
5 Model 35 Talent Amplifier

6 Model 36 Talent Interface
6 Model 37 Intercom Beltpack
6 Model 41 Interface

7 Model 42A Interface
7 Model 43D IFB Interface
7 Model 44D Audio Interface
7 Model 45 Interface
7 Model 45A Interface
7 Model 45DC Intercom Interface
7 Model 45DR Intercom Interface
7 Model 46 Interface
7 Model 46A Interface

8 Model 47 Interface
8 Model 47A Interface
8 Model 48D Dante Bridge
8 Model 51 Control Console
8 Model 56 Control Console
8 Models 59 and 591 Control Consoles

9 Model 60 Central Controller
9 Model 60A Central Controller
9 Model 61 Control Console

 10 Model 69 Control Console
 10 Model 69A Control Console
 10 Model 71 Control Console
 10 Model 72 Level Meter / Interface
 10 Model 74 Central Controller
 10 Model 75 Control Console

All prices effective July 7, 2025. Subject to change without notice. Parts availability subject to factory stock 
levels. Certain parts may become obsolete without notice.

Page Product
 11 Model 76 Central Controller
 11 Model 76B Central Controller
 11 Model 76D Central Controller
 11 Model 76DA Central Controller
 11 Model 77 Control Console
 11 Model 77B Control Console
 11 Model 79 Control Console

 12 Model 92 DT12 Cable Assembly Test Unit
 12 Model 93 W1 Cable Assembly Test Unit
 12 Model 201 Interpreter’s Console
 12 Models 203, 204, 205, and 206 Announcer’s Consoles
 12 Model 207 eSports Console

 13 Model 207A eSports Console
 13 Model 208 Announcer’s Console
 13 Model 209 Talent Console

 14 Models 210, 211, 212, 220, 230, and 233 Announcer’s Consoles
 14 Models 214, 215, and 216 Announcer’s Consoles

 15 Models 214A, 215A, and 216A Announcer’s Consoles
 15 Models 232, 234, and 236 Announcer’s Consoles

 16 Model 240 Producer’s Console
 16 Model 342 Intercom Station
 16 Model 348 Intercom Station

 17 Model 352A Talk Station
 17 Model 354 Talk Station
 17 Model 354A Talk Station
 17 GME-3-12 Gooseneck Microphone

 18 Model 362 Listen-Only Beltpack
 18 Model 362A Listen-Only Beltpack
 18 Model 370 Intercom Beltpack

 19 Model 370A Intercom Beltpack
 19 Model 371 Intercom Beltpack
 19 Model 371A Intercom Beltpack

 20 Model 372A Intercom Beltpack
 20 Model 373A Intercom Beltpack
 20 Model 374 Intercom Beltpack
 20 Model 374A Intercom Beltpack

Issue 25, Effective July 7, 2025



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 2

Table of Contents
Page Product
 21 Model 380 On-Air Beltpack
 21 Model 381 On-Air Beltpack
 21 Model 391 Dante Alerting Unit
 21 Model 392 Visual Indicator Unit

 22 Model 394 GPI Interface
 22 Model 395 GPO Interface

 23 Model 400 SDI-Over-Fiber Transport Systems
 23 Model 400A SDI-Over-Fiber Transport Systems

 24 Model 410 SDI-Over-Fiber Transport Systems
 24 Model 412 Fiber Transport Systems

 25 Model 543D IFB Interface
 25 Model 544D Audio Interface
 25 Model 545AC Intercom Interface
 25 Model 545AR Intercom Interface
 25 Model 545DC Intercom Interface
 25 Model 545DR Intercom Interface
 25 Model 742 Audio Mixer

 26 Model 742A Audio Mixer
 26 Model 750 Audio Mixer

 27 Model 760-Series Central Controllers
 27 Model 761 Central Controller
 27 Model 780-Series Central Controllers
 27 Model 790 Control Console
 27 Model 791 Control Console
 27 Model 792 Central Controller

 28 Model 793 Control Console
 28 Model 794-Series Central Controllers
 28 Model 795 Control Console

 29 Model 5100-Series Broadcast Support Modules
 29 Model 5202 Dante to Phones & Line Output Interface
 29 Model 5204 Dual Line Input to Dante Interface
 29 Model 5304 Intercom Station
 29 Model 5312 Intercom Station

 30 Model 5330 Flex-Use Dante Audio Interface
 30 Model 5364 Headset Interface
 30 Model 5365 Headset Interface
 30 Model 5401 Dante Master Clock
 30 Model 5401A Dante Leader Clock
 30 Model 5402 Dante Leader Clock with GNSS Synchronization
 30 Model 5412-Series Audio Interfaces

Page Product
 31 Model 5414 Mic/Line Input & Line Output Interface
 31 MD-4 Mic/Line Input & Line Output Interface

 31 Model 5418 Mic/Line Interface
 31 Model 5421 Dante Intercom Audio Engine
 31 Model 5421A Dante Intercom Audio Engine

 32 Model 5422-Series Dante Intercom Audio Engines
 32 Model 5422A-Series Dante Intercom Audio Engines
 32 Model 5482-Series Dante Bridges
 32 Model 5512-Series Audio Interfaces
 32 Model 5512A-Series Audio Interfaces
 32 Model 5518 Mic/Line Interface
 32 Model 5518A Mic/Line Interface

 33 Models 5532, 5534, and 5536 Announcer’s Consoles
 33 Model 5682-Series ST 2110 to Dante Bridges

 34 Live-Link Sr. Remote Camera Interface Systems
 34 Live-Link Jr. Remote Camera Interface Systems
 34 Live-Link Mini Remote Camera Interface Systems

 35 Live-Link Miscellaneous Parts
 35 Miscellaneous Parts



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 3

Model 2 Central Controller (all Serial Numbers)
Knob – Program and Monitor Output (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Program and Monitor Output (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Pushbutton Cap (gray) (Order Code: 12050)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch TACGRY; Digi-Key No.: EG1082-ND
Potentiometer – Program 1, Program 2, Monitor Output (Order Code: 2126) ______ $  4.00 ___________
Pushbutton Switch (momentary) – IFB 1, IFB 2 (Order Code: 12064) ______ $  4.00 ___________
Pushbutton Switch Assembly (6-position, interlock) – Program Select (Order Code: 12036) ______ $12.00 ___________
Toggle Switch – VOX IFB Input Select (Order Code: 12054) ______ $26.00 ___________
Toggle Switch – VOX IFB Output Select (Order Code: 12052) ______ $22.00 ___________
Toggle Switch (momentary) – Telco 1, Telco 2, Manual Off-Hook/Hang-Up Select  
(Order Code: 12053) ______ $22.00 ___________
Toggle Switch – Telco 2 Send/Rcv and Monitor Source Select (Order Code: 12051) ______ $22.00 ___________
Pushbutton Switch (push-push) – Telco Std/Wet 1, Telco Std/Wet 2 (Order Code: 12016) ______ $  3.00 ___________

Model 2A Central Controller (all Serial Numbers)
Knob – Program and Monitor Output (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Program and Monitor Output (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Pushbutton Cap (gray) (Order Code: 12050)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch TACGRY; Digi-Key No.: EG1082-ND
Potentiometer – Program 1, Program 2, Monitor Output (Order Code: 2126) ______ $  4.00 ___________
Pushbutton Switch (momentary) – IFB 1, IFB 2 (Order Code: 12064) ______ $  4.00 ___________
Pushbutton Switch Assembly (6-position, interlock) – Program Select Order Code: 12036) ______ $12.00 ___________
Toggle Switch (momentary) – Telco 1, Telco 2, Manual Off-Hook/Hang Up Select  
(Order Code: 12093) ______ $  9.00 ___________
Toggle Switch – VOX IFB, Telco 2 Send/Rcv, Monitor Source Select (Order Code: 12091) ______ $  9.00 ___________
Pushbutton Switch (push-push) – Telco Std/Wet 1, Telco Std/Wet 2 (Order Code: 12016) ______ $  3.00 ___________
Power Supply (universal AC mains input/12 V, 3.34 A (40 watts) output) (Order Code: 10303)  ______ $45.00 ___________ 
Mfg. No.: Cincon CFM40S120; Digi-Key No.: 2034-3674-ND; Mouser No.: 418-CFM40S120

Model 22 Access Station (all Serial Numbers)
Pushbutton Switch (momentary, Mfg. by EAO) (Order Code: 12028) ______ $14.00 ___________ 
Note: Does not include button cap, lens, or label. See 31069.
Button Cap, Lenses, and Label Kit (includes five each button cap, clear lens, frosted lens,  
and one button function label sheet (15154)) (Order Code: 31069) ______ $40.00 ___________
Backlight Lamp (T1, 18 V, incandescent) (Order Code: 12030) ______ $  4.00 ___________

Model 24 Access Station (all Serial Numbers)
Pushbutton Switch (momentary, Mfg. by EAO) (Order Code: 12028) ______ $14.00 ___________ 
Note: Does not include button cap, lens, or label. See 31069.
Button Cap, Lenses, and Label Kit (includes five each button cap, clear lens, frosted lens,  
and one button function label sheet (15154)) (Order Code: 31069)  ______ $40.00 ___________
Backlight Lamp (T1, 18 V, incandescent) (Order Code: 12030) ______ $  4.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 4

Model 32 Talent Amplifier (Serial Numbers 00001 – 00299)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Ch 1/2 Select (Order Code: 12021) ______ $  6.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
1/4" Phone Jack (Order Code: 1053) ______ $  7.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 32 Talent Amplifier (Serial Numbers 00300 – later)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Ch 1/2 Select (Order Code: 12021) ______ $  6.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
1/4" Phone Jack (Order Code: 1086) ______ $  4.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 32A Talent Amplifier (all Serial Numbers)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Ch 1/2 Select (Order Code: 12021) ______ $  6.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 33 Talent Amplifier (all Serial Numbers)
Knob – Ch 1 and Ch 2 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Ch 1 and Ch 2 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Ch 1 and Ch 2 (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Ch 1/2 Select (Order Code: 12063) ______ $  9.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 5

Model 33A Talent Amplifier (all Serial Numbers)
Knob – Ch 1 and Ch 2 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Ch 1 and Ch 2 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Ch 1 and Ch 2 (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Ch 1/2 Select (Order Code: 12063) ______ $  9.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 34 Talent Amplifier (all Serial Numbers)
Knob – Ch 1/Left and Ch 2/Right (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Ch 1/Left and Ch 2/Right (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Ch 1/Left and Ch 2/Right (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Output Mic/Stereo Select (Order Code: 12021) ______ $  6.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 35 Talent Amplifier (Serial Numbers 00001 – 00385)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2124) ______ $  5.00 ___________
Pushbutton Switch (push-push) – Stereo/Mono (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Cap (gray) (Order Code: 12015) ______ $  3.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
Dual 1/4" Phone Jack (Order Code: 1087) ______ $  6.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________

Model 35 Talent Amplifier (Serial Numbers 00386 – later)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2124) ______ $  5.00 ___________
Pushbutton Switch (push-push) – Stereo/Mono (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Cap (gray) (Order Code: 12015) ______ $  3.00 ___________
3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________
3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________
Dual 1/4" Phone Jack (Order Code: 1113) ______ $  7.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 6

Model 36 Talent Interface (all Serial Numbers)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2148) ______ $  4.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
5-Pin Headset Connector Assembly (Order Code: 13579)  ______ $56.00 ___________
6-Pin Headset Connector Assembly (Order Code: 13595)  ______ $56.00 ___________
7-Pin Headset Connector Assembly (Order Code: 13561) ______ $56.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 37 Intercom Beltpack (all Serial Numbers)
Knob – Main and Aux (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Main and Aux (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Main and Aux (Order Code: 2148) ______ $  4.00 ___________
Toggle Switch – Mic On Select (on/off/mom) (Order Code: 12088) ______ $  6.00 ___________
Power Entry & Aux Audio Input Kit (Order Code: M37-MK-01) ______ $84.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 41 Interface (Serial Numbers 00151 – 01050)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black, w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2166) ______ $  4.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Pushbutton Cap (gray) (Order Code: 14229) ______ $  1.50 ___________

Model 41 Interface (Serial Numbers 01051 – later)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2166) ______ $  4.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Pushbutton Cap (gray) (Order Code: 14229) ______ $  1.50 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 7

Model 42A Interface (all Serial Numbers)
Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer (Order Code: 2166) ______ $  4.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Pushbutton Cap (gray) (Order Code: 14229) ______ $  1.50 ___________

Model 43D IFB Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 44D Audio Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 45 Interface (all Serial Numbers)
5-Position DIP Switch (Order Code: 12069) ______ $  6.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
24 Vdc, 0.75 A Power Supply (output terminated onto 2.1 x 5.5 mm locking coaxial jack)  
(Order Code: PS-DC-03) ______ $46.00 ___________

Model 45A Interface (all Serial Numbers)
5-Position DIP Switch (Order Code: 12069) ______ $  6.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
24 Vdc, 0.75 A Power Supply (output terminated onto 2.1 x 5.5 mm locking coaxial jack)  
(Order Code: PS-DC-03) ______ $46.00 ___________

Model 45DC Intercom Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 45DR Intercom Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 46 Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 46A Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 8

Model 47 Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 47A Interface (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 48D Dante Bridge (all Serial Numbers)
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 51 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Studio Level (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Studio Level (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Studio Level (Order Code: 2054) ______ $12.00 ___________
Knob – Control Room Level (black, collet, 47 mm) (Order Code: 14205)  ______ $18.00 ___________ 
Note: Knob and knob cap are sold separately. See 14206 for knob cap.
Knob Cap – Control Room Level (black w/white line, 47 mm) (Order Code: 14206)  ______ $  4.00 ___________ 
Note: Knob and knob cap are sold separately. See 14205 for knob.
Potentiometer – Control Room Level (Order Code: 2122) ______ $12.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________

Model 56 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Control Room Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.
Knob Cap – Control Room Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer – Control Room Level (Order Code: 2123) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________

Model 59 and Model 591 Control Consoles (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Control Room Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.
Knob Cap – Control Room Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer – Control Room Level (Order Code: 2123) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 9

Model 60 Central Controller (Serial Numbers 00200 – 00300)
1/4" Phone Jack (Order Code: 1086) ______ $  4.00 ___________
Dual 1/4" Phone Jack (Order Code: 1087) ______ $  6.00 ___________
Knob – Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level and Dub Level (Order Code: 2128) ______ $  8.00 ___________
Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Switch Assembly (4-station) – Source (Order Code: 12061) ______ $16.00 ___________
Pushbutton Cap (gray) (Order Code: 12050)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch TACGRY; Digi-Key No.: EG1082-ND

Model 60 Central Controller (Serial Numbers 00301 – later)
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Dual 1/4" Phone Jack (Order Code: 1113) ______ $  7.00 ___________
Knob – Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level and Dub Level (Order Code: 2128) ______ $  8.00 ___________
Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Switch Assembly (4-station) – Source (Order Code: 12061) ______ $16.00 ___________
Pushbutton Cap (gray) (Order Code: 12050)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch TACGRY; Digi-Key No.: EG1082-ND

Model 60A Central Controller (all Serial Numbers)
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Dual 1/4" Phone Jack (Order Code: 1168) ______ $  7.00 ___________
Knob – Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level and Dub Level (Order Code: 2128) ______ $  8.00 ___________
Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Switch Assembly (4-station) – Source (Order Code: 12061) ______ $16.00 ___________
Pushbutton Switch Assembly (3-station) – Switcher (Order Code: 12074) ______ $12.00 ___________
Pushbutton Cap (gray) (Order Code: 12050)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch TACGRY; Digi-Key No.: EG1082-ND

Model 61 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14215 for knob cap.
Knob Cap – Level (black w/white line, 29 mm) (Order Code: 14215)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 10

Model 69 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.
Knob Cap – Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 69A Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND)
Knob – Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.
Knob Cap – Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 71 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder – Level (Order Code: 12034) ______ $  4.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 72 Level Meter / Interface (all Serial Numbers)
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________

Model 74 Central Controller (all Serial Numbers)
3.5 mm Jack (Order Code: 1315) ______ $  4.00 ___________

Model 75 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055) ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.
Knob Cap – Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer Assembly – Level (Order Code: 32089) ______ $12.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 11

Model 76 Central Controller (all serial numbers)
Capacitor (surface mount, aluminum electrolytic, 47 uF, 25 V) (Order Code: 4975)  ______ $  2.00 ___________ 
Mfg. No.: Panasonic FK-Series, EEE-FK1E470P; Digi-Key No.: PCE3804, Mouser No. 667-EEE-FK1E470P 
Alternate, Mfg. No.: Nichicon UUD-Series, UUD1E470MCL1GS; Digi-Key No. 493-2273-2, Mouser No. 647-UUD1E470MCL 
Notes: For revision B circuit boards: C36, C73, C178, C193 (C193 is bypass for –15 volt DC rail and is most critical) 
For revision C circuit boards: C39, C76, C181, C196 (C196 is bypass for –15 volt DC rail and is most critical)

Model 76B Central Controller (all serial numbers)
Capacitor (surface mount, aluminum electrolytic, 47 uF, 25 V) (Order Code: 4975) ______ $  2.00 ___________ 
Mfg. No.: Panasonic FK-Series, EEE-FK1E470P; Digi-Key No.: PCE3804, Mouser No. 667-EEE-FK1E470P 
Alternate, Mfg. No.: Nichicon UUD-Series, UUD1E470MCL1GS; Digi-Key No. 493-2273-2, Mouser No. 647-UUD1E470MCL 
Notes: For revision B circuit boards: C36, C73, C178, C193 (C193 is bypass for –15 volt DC rail and is most critical) 
For revision C circuit boards: C39, C76, C181, C196 (C196 is bypass for –15 volt DC rail and is most critical)

Model 76D Central Controller (all serial numbers)
Power Supply Assembly (universal AC mains input/12 V, 1.25 A (15 watts) output)  
(Order Code: 32226)  ______ $65.00 ___________ 
Note: Replaces discontinued Phihong PSA15LN3-120-R power supply.

Model 76DA Central Controller (all serial numbers)
Power Supply Assembly (universal AC mains input/12 V, 1.25 A (15 watts) output)  
(Order Code: 32226)  ______ $65.00 ___________ 
Note: Replaces discontinued Phihong PSA15LN3-120-R power supply.

Model 77 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg.. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder Assembly – Level (Order Code: 31378) ______ $  9.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 77B Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder Assembly – Level (Order Code: 31378) ______ $  9.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 79 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14215 for knob cap.
Knob Cap – Level (black w/white line, 29 mm) (Order Code: 14215)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.
Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m) 
(Order Code: 13179-20) ______ $26.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 12

Model 92 DT12 Cable Assembly Test Unit (all Serial Numbers)
Rechargeable Battery, 12 V, 1.3 Ah (Order Code: 10335)  Not available from factory 
Mfg. No.: Panasonic LC-R121R3P; Digi-Key No.: P264-ND

Model 93 W1 Cable Assembly Test Unit (all Serial Numbers)
Rechargeable Battery, 12 V, 1.3 Ah (Order Code: 10335)  Not available from factory 
Mfg. No.: Panasonic LC-R121R3P; Digi-Key No.: P264-ND

Model 201 Interpreter’s Console (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4” phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________

Model 203, Model 204, Model 205, and Model 206 Announcer’s Consoles (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 0.138" tall) (Order Code: 14028) ______ $  2.00 ___________

Model 207 eSports Console (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
3.5 mm 4-Conductor (TRRS) Jack (Order Code: 1410) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 1/4" tall) (Order Code: 14326) ______ $  3.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 13

Model 207A eSports Console (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
3.5 mm 4-Conductor (TRRS) Jack (Order Code: 1410) ______ $  5.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 1/4" tall) (Order Code: 14326) ______ $  3.00 ___________

Model 208 Announcer’s Console (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090)  Note: For use with 1/4" phone jack. ______ $  1.50 ___________
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

Model 209 Talent Console (all Serial Numbers)
Knob – Glow (black w/clear center, 13 mm dia. x 13.8 mm tall) (Order Code: 14340)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 21 mm overall length) (Order Code: 12109)  ______ $  8.00 ___________
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090)  Note: For use with 1/4" phone jack. ______ $  1.50 ___________
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 14

Model 210, Model 211, Model 212, Model 220, Model 230, and Model 233  
Announcer’s Consoles (all Serial Numbers)
Pushbutton Switch (momentary, Mfg. by EAO) (Order Code: 12028) ______ $14.00 ___________ 
Note: Does not include button cap, lens, or label. See 31069.
Button Cap, Lenses, and Label Kit (includes five each button cap, clear lens, frosted lens,  
and one button function label sheet (15154)) (Order Code: 31069) ______ $40.00 ___________
Knob – Phones Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Phones Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level (Order Code: 2127) ______ $  5.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4” phone jack.
DC Power Entry Jack Assembly (includes PCB, washer, and nut) (Order Code: 32135)  ______ $12.00 ___________ 
Note: Requires cable assembly, sold separately. See 13690.
Cable Assembly for DC Power Entry Jack Assembly (2-conductor, 5”) (Order Code: 13690) ______ $  4.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________
Model 210 Security Plate (Order Code: SP-M210) ______ $15.00 ___________
Model 211 Security Plate (Order Code: SP-M211) ______ $15.00 ___________
Model 212 Security Plate (Order Code: SP-M212) ______ $15.00 ___________
Model 220 Security Plate (Order Code: SP-M220) ______ $18.00 ___________
Model 230 Security Plate (Order Code: SP-M230) ______ $18.00 ___________
Model 233 Security Plate (Order Code: SP-M233) ______ $18.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
24 Vdc, 0.75 A Power Supply (output terminated onto 2.1 x 5.5 mm locking coaxial jack)  
(Order Code: PS-DC-03) ______ $46.00 ___________

Model 214, Model 215, and Model 216 Announcer’s Consoles (all Serial Numbers)
Pushbutton Switch Backlight LED (Order Code: 3154) ______ $  3.00 ___________
Pushbutton Switch (momentary, Mfg. by EAO) (Order Code: 12028) ______ $14.00 ___________ 
Note: Does not include button cap, lens, or label. See 31069.
Button Cap, Lenses, and Label Kit (includes five each button cap, clear lens, frosted lens,  
and one button function label sheet (15154)) (Order Code: 31069) ______ $40.00 ___________
Knob – Phones Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Phones Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level (Order Code: 2127) ______ $  5.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________
Model 214 Security Plate (Order Code: SP-M214) ______ $15.00 ___________
Model 215 Security Plate (Order Code: SP-M215) ______ $15.00 ___________
Model 216 Security Plate (Order Code: SP-M216) ______ $15.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 15

Model 214A, Model 215A, and Model 216A Announcer’s Consoles (all Serial Numbers)
Pushbutton Switch Backlight LED (Order Code: 3154) ______ $  3.00 ___________
Pushbutton Switch (momentary, Mfg. by EAO) (Order Code: 12028) ______ $14.00 ___________ 
Note: Does not include button cap, lens, or label. See 31069.
Button Cap, Lenses, and Label Kit (includes five each button cap, clear lens, frosted lens,  
and one button function label sheet (15154)) (Order Code: 31069) ______ $40.00 ___________
Knob – Phones Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Phones Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level (Order Code: 2127) ______ $  5.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 232, Model 234, and Model 236 Announcer’s Consoles
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090)  Note: For use with 1/4" phone jack. ______ $  1.50 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 1/4" tall) (Order Code: 14326) ______ $  3.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________

For Serial Numbers 00151-00274
Knob – Glow (black w/clear center, 13 mm dia. x 17.8 mm tall) (Order Code: 14321)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 25 mm overall length) (Order Code: 12103)  ______ $  8.00 ___________

For Serial Numbers 00275-later
Knob – Glow (black w/clear center, 13 mm dia. x 13.8 mm tall) (Order Code: 14340)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 21 mm overall length) (Order Code: 12109)  ______ $  8.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 16

Model 240 Producer’s Console (all Serial Numbers)
Button Backlight LED (Order Code: 3154) ______ $  3.00 ___________
Pushbutton Switch (momentary, Mfg. by EAO) (Order Code: 12028) ______ $14.00 ___________ 
Note: Does not include button cap, lens, or label. See 31069.
Button Cap, Lenses, and Label Kit (includes five each button cap, clear lens, frosted lens,  
and one button function label sheet (15154)) (Order Code: 31069) ______ $40.00 ___________
Knob – Phones Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Phones Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Phones Level (Order Code: 2127) ______ $  5.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4” phone jack.
DC Power Entry Jack Assembly (includes PCB, washer, and nut) (Order Code: 32135)  ______ $12.00 ___________ 
Note: Requires cable assembly, sold separately. See 13690.
Cable Assembly for DC Power Entry Jack Assembly (2-conductor, 5”) (Order Code: 13690) ______ $  4.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________
Model 240 Security Plate (Order Code: SP-M240) ______ $18.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
24 Vdc, 0.75 A Power Supply (output terminated onto 2.1 x 5.5 mm locking coaxial jack)  
(Order Code: PS-DC-03) ______ $46.00 ___________

Model 342 Intercom Station
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________

Model 348 Intercom Station
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
3.5 mm 4-Conductor (TRRS) Jack (Order Code: 1410) ______ $  5.00 ___________
Loudspeaker (37 mm dia., 8 ohm) (Order Code: 10702)  ______ $22.00 ___________ 
Mfg. No.: Visaton: BF37/2261; Parts Express No.: 292-655
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: For use with microphone bushing.
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2" dia. by 1/4" tall) (Order Code: 14326) ______ $  3.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________

For Serial Numbers 00151-00381
Knob – Glow (black w/clear center, 13 mm dia. x 17.8 mm tall) (Order Code: 14321)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 25 mm overall length) (Order Code: 12103)  ______ $  8.00 ___________

For Serial Numbers 00382-later
Knob – Glow (black w/clear center, 13 mm dia. x 13.8 mm tall) (Order Code: 14340)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 21 mm overall length) (Order Code: 12109)  ______ $  8.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 17

Model 352A Talk Station (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
Pushbutton Switch (momentary) – Monitor Source (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: For use with microphone bushing.
Rubber Bumper (black, set of 4, 1/2” dia. by 7/32” tall) (Order Code: 14339) ______ $  6.00 ___________ 
Note: Bumpers and machine screws are sold separately. See 8032-5/16 for screws.
Machine Screw (SEMS, 4-40x5/16”) (Order Code: 8032-5/16)  ______ $  0.50 ___________ 
Note: Machine screws and bumpers are sold separately. See 14339 for bumpers.

Model 354 Talk Station (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: For use with microphone bushing.
Rubber Bumper (black, set of 4, 1/2" dia. by 7/32" tall) (Order Code: 14339) ______ $  6.00 ___________ 
Note: Bumpers and machine screws are sold separately. See 8032-5/16 for screws.
Machine Screw (SEMS, 4-40x5/16") (Order Code: 8032-5/16)  ______ $  0.50 ___________ 
Note: Machine screws and bumpers are sold separately. See 14339 for bumpers.

Model 354A Talk Station (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
Pushbutton Switch (momentary) – Monitor Source (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: For use with microphone bushing.
Rubber Bumper (black, set of 4, 1/2" dia. by 7/32" tall) (Order Code: 14339) ______ $  6.00 ___________ 
Note: Bumpers and machine screws are sold separately. See 8032-5/16 for screws.
Machine Screw (SEMS, 4-40x5/16") (Order Code: 8032-5/16)  ______ $  0.50 ___________ 
Note: Machine screws and bumpers are sold separately. See 14339 for bumpers.

GME-3-12 Gooseneck Microphone
Foam Windscreen – for GME-3-12 Gooseneck Microphone (Order Code: 14331) ______ $  6.00 ___________ 
Note: Also included with Model 11B Gooseneck Microphone Assembly.

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 18

Model 362 Listen-Only Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________
Phillips Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8056-1/4) ______ $  0.50 ___________

Model 362A Listen-Only Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________
Phillips Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8056-1/4) ______ $  0.50 ___________

Model 370 Intercom Beltpack
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Trim Potentiometer (for sidetone) (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.
Plastic Shaft (gray, for sidetone trim pot) (Order Code: 14307) ______ $  3.00 ___________
Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________
Phillips Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8056-1/4) ______ $  0.50 ___________

For Serial Numbers 00151-02000
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298) ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).

For Serial Numbers 02001-later
Push-Pot Potentiometer Assembly (single-section) (Order Code: 32299) ______ $  9.00 ___________ 
Note: Includes push-pot (2172) and sleeve (14297).

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 19

Model 370A Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Hex Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8054-1/4) ______ $  0.50 ___________

Model 371 Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (single-section) (Order Code: 32299)  ______ $  9.00 ___________ 
Note: Includes push-pot (2172) and sleeve (14297).
Trim Potentiometer (for sidetone) (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.
Plastic Shaft (gray, for sidetone trim pot) (Order Code: 14307) ______ $  3.00 ___________
Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________
Phillips Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8056-1/4) ______ $  0.50 ___________

Model 371A Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Hex Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8054-1/4) ______ $  0.50 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 20

Model 372A Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 373A Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 374 Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Trim Potentiometer (for sidetone) (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.
Plastic Shaft (gray, for sidetone trim pot) (Order Code: 14307) ______ $  3.00 ___________
Switch Cap (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14296 for 10 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________
Phillips Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8056-1/4) ______ $  0.50 ___________

Model 374A Intercom Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Switch Cap (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14296 for 10 mm switch cap.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Hex Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8054-1/4) ______ $  0.50 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 21

Model 380 On-Air Beltpack
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________
Phillips Machine Screw – for Belt Clip (black, 6-32x1/4") (Order Code: 8056-1/4) ______ $  0.50 ___________

For Serial Numbers 00151-01000
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298) ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).

For Serial Numbers 01001-later
Push-Pot Potentiometer Assembly (single-section) (Order Code: 32299) ______ $  9.00 ___________ 
Note: Includes push-pot (2172) and sleeve (14297).

Model 381 On-Air Beltpack (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Belt Clip (black, steel) (Order Code: 30247) ______ $  5.00 ___________
Pop-Rivet – for Belt Clip (black, aluminum, 0.125" grip) (Order Code: 8201-.125) ______ $  1.00 ___________

Model 391 Dante Alerting Unit (all Serial Numbers)
Pushbutton Switch (momentary) – Mode (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________
Trim Potentiometer (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.
Plastic Shaft (gray, for trim pot) (Order Code: 14307) ______ $  3.00 ___________

Model 392 Visual Indicator Unit (all Serial Numbers)
Metal Plate (Order Code: 32248) Not available from factory 
Mfg. No.: Leviton® S746-N, 2-gang, 1-Decora® opening, centered, 302 stainless steel.  
Available from online and electrical supply sources.

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 22

Model 394 GPI Interface (all Serial Numbers)
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Terminal Block (4-position) (Order Code: 1434) ______ $  6.00 ___________

Model 395 GPO Interface (all Serial Numbers)
Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap.
Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.
Terminal Block (4-position) (Order Code: 1434) ______ $  6.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 23

Model 400 SDI-Over-Fiber Transport Systems (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $    4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Display Lens (Order Code: 15203) ______ $    4.00 ___________
Power Supply (universal AC mains input/12 V, 3.34 A (40 watts) output) (Order Code: 10303)  ______ $  45.00 ___________ 
Mfg. No.: Cincon CFM40S120; Digi-Key No.: 2034-3674-ND; Mouser No.: 418-CFM40S120
Model 403-03 Triple Optical to Electrical Interface Card (Order Code: M403-03) ______ $450.00 ___________ 
Note: Does not include SFP optical modules (card uses one each 6411 and 6407).
Model 403-30 Triple Electrical to Optical Interface Card (Order Code: M403-30) ______ $550.00 ___________ 
Note: Does not include SFP optical modules (card uses one each 6410 and 6408).
SFP Optical Module (video, single-channel receiver) (Order Code: 6411) ______ $156.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30R-DN.
SFP Optical Module (video, dual-channel receiver) (Order Code: 6407) ______ $185.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30DR-DN.
SFP Optical Module (video, single-channel transmitter) (Order Code: 6410) ______ $210.00 ___________ 
Note: 1490 nm CWDM laser; non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1630T-DLN.
SFP Optical Module (video, dual-channel transmitter) (Order Code: 6408) ______ $330.00 ___________ 
Note: 1310 nm FP laser (channel 1), 1550 nm DFB laser (channel 2), non-MSA, supports  
3G SDI video. Mfg. No.: Eoptolink EOLS-1330DT-10DN-V.
Optical Attenuator (4 dB) (Order Code: 6437) ______ $  15.00 ___________ 
Note: LC UPC-M/F.
ST-ST Optical Barrel Connector (with nut and lockwasher) (Order Code: 1260) ______ $    6.00 ___________
Optical Multiplexer (“mux”) (3 inputs/1 output) (Order Code: 10826) ______ $  70.00 ___________ 
Note: 1310, 1490, and 1550 nm inputs use LC optical connectors; output uses ST optical connector.
Optical Demultiplexer (“demux”) (1 input/3 outputs) (Order Code: 10827) ______ $  95.00 ___________ 
Note: Input uses ST optical connector; 1310, 1490, and 1550 nm outputs use LC optical connectors.

Model 400A SDI-Over-Fiber Transport Systems (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $    4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Field-Service Display Replacement Kit (includes a VFD display (10609) with attached  
ribbon cable (13707) (Order Code: 32638) ______ $122.00 ___________
Display Lens (Order Code: 15203) ______ $    4.00 ___________
Power Supply (universal AC mains input/12 V, 3.34 A (40 watts) output) (Order Code: 10303)  ______ $  45.00 ___________ 
Mfg. No.: Cincon CFM40S120; Digi-Key No.: 2034-3674-ND; Mouser No.: 418-CFM40S120
Model 403-03 Triple Optical to Electrical Interface Card (Order Code: M403-03) ______ $450.00 ___________ 
Note: Does not include SFP optical modules (card uses one each 6411 and 6407).
Model 403-30 Triple Electrical to Optical Interface Card (Order Code: M403-30) ______ $550.00 ___________ 
Note: Does not include SFP optical modules (card uses one each 6410 and 6408).
SFP Optical Module (video, single-channel receiver) (Order Code: 6411) ______ $156.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30R-DN.
SFP Optical Module (video, dual-channel receiver) (Order Code: 6407) ______ $185.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30DR-DN.
SFP Optical Module (video, single-channel transmitter) (Order Code: 6410) ______ $210.00 ___________ 
Note: 1490 nm CWDM laser; non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1630T-DLN.
SFP Optical Module (video, dual-channel transmitter) (Order Code: 6408) ______ $330.00 ___________ 
Note: 1310 nm FP laser (channel 1), 1550 nm DFB laser (channel 2), non-MSA, supports  
3G SDI video. Mfg. No.: Eoptolink EOLS-1330DT-10DN-V.
Optical Attenuator (4 dB) (Order Code: 6437) ______ $  15.00 ___________ 
Note: LC UPC-M/F.
ST-ST Optical Barrel Connector (with nut and lockwasher) (Order Code: 1260) ______ $    6.00 ___________
Optical Multiplexer (“mux”) (3 inputs/1 output) (Order Code: 10826) ______ $  70.00 ___________ 
Note: 1310, 1490, and 1550 nm inputs use LC optical connectors; output uses ST optical connector.
Optical Demultiplexer (“demux”) (1 input/3 outputs) (Order Code: 10827) ______ $  95.00 ___________ 
Note: Input uses ST optical connector; 1310, 1490, and 1550 nm outputs use LC optical connectors.

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 24

Model 410 SDI-Over-Fiber Transport Systems (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $    4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Display Lens (Order Code: 15203) ______ $    4.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $  10.00 ___________
12 Vdc, 1.5 A Power Supply (output terminated onto 4-pin female XLR connector)  
(Order Code: PS-DC-02) ______ $  88.00 ___________
Model 403-03 Triple Optical to Electrical Interface Card (Order Code: M403-03) ______ $450.00 ___________ 
Note: Does not include SFP optical modules (card uses one each 6411 and 6407).
Model 403-30 Triple Electrical to Optical Interface Card (Order Code: M403-30) ______ $550.00 ___________ 
Note: Does not include SFP optical modules (card uses one each 6410 and 6408).
Model 403-33M Triple Electrical to Optical / Triple Optical to Electrical Interface Card  ______ $550.00 ___________ 
(Order Code: M403-33)  
Notes: Does not include SFP optical modules. Used as a replacement for both 403-33M and 403-33  
cards (card uses one each 6410, 6408, 6411, and 6407).
SFP Optical Module (video, single-channel receiver) (Order Code: 6411) ______ $156.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30R-DN.
SFP Optical Module (video, dual-channel receiver) (Order Code: 6407) ______ $185.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30DR-DN.
SFP Optical Module (video, single-channel transmitter) (Order Code: 6410) ______ $210.00 ___________ 
Note: 1490 nm CWDM laser; non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1630T-DLN.
SFP Optical Module (video, dual-channel transmitter) (Order Code: 6408) ______ $330.00 ___________ 
Note: 1310 nm FP laser (channel 1), 1550 nm DFB laser (channel 2), non-MSA, supports  
3G SDI video. Mfg. No.: Eoptolink EOLS-1330DT-10DN-V.
Optical Attenuator (4 dB) (Order Code: 6437) ______ $  15.00 ___________ 
Note: LC UPC-M/F.
ST-ST Optical Barrel Connector (with nut and lockwasher) (Order Code: 1260) ______ $    6.00 ___________
Optical Multiplexer (“mux”) (3 inputs/1 output) (Order Code: 10826) ______ $  70.00 ___________ 
Notes: 1310, 1490, and 1550 nm inputs use LC optical connectors; output uses ST optical connector. 
Applicable to M410-3T and M410-3R.
Optical Demultiplexer (“demux”) (1 input/3 outputs) (Order Code: 10827) ______ $  95.00 ___________ 
Notes: Input uses ST optical connector; 1310, 1490, and 1550 nm outputs use LC optical connectors. 
Applicable to M410-3T and M410-3R.
Optical Demultiplexer (“demux”) (1 input/3 outputs) (Order Code: 10828) ______ $  95.00 ___________ 
Notes: Input uses ST optical connector; 1310, 1490, and 1550 nm outputs use LC optical connectors. 
Applicable to M410-3T/3R.

Model 412 Fiber Transport Systems (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $    4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Display Lens (Order Code: 15203) ______ $    4.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $  10.00 ___________
12 Vdc, 1.5 A Power Supply (output terminated onto 4-pin female XLR connector)  
(Order Code: PS-DC-02) ______ $  88.00 ___________
SFP Optical Module (video, single-channel receiver) (Order Code: 6411) ______ $156.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30R-DN.
SFP Optical Module (video, dual-channel receiver) (Order Code: 6407) ______ $185.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30DR-DN.
SFP Optical Module (video, single-channel transmitter) (Order Code: 6410) ______ $210.00 ___________ 
Note: 1490 nm CWDM laser; non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1630T-DLN.
SFP Optical Module (video, dual-channel transmitter) (Order Code: 6408) ______ $330.00 ___________ 
Note: 1310 nm FP laser (channel 1), 1550 nm DFB laser (channel 2), non-MSA, supports  
3G SDI video. Mfg. No.: Eoptolink EOLS-1330DT-10DN-V.
SFP Optical Module (Ethernet, transceiver) (Order Code: 6433) ______ $  55.00 ___________ 
Note: 1310 nm FP laser, MSA, supports 10/100/1000 Ethernet. Mfg. No.: ATOP APS31123CDL20.
Optical Attenuator (4 dB) (Order Code: 6437) ______ $  15.00 ___________ 
Note: LC UPC-M/F.
ST-ST Optical Barrel Connector (with nut and lockwasher) (Order Code: 1260) ______ $    6.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 25

Model 543D IFB Interface (all Serial Numbers)
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 544D Audio Interface (all Serial Numbers)
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 545AC Intercom Interface (all Serial Numbers)
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 545AR Intercom Interface (all Serial Numbers)
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 545DC Intercom Interface (all Serial Numbers)
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 545DR Intercom Interface (all Serial Numbers)
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 742 Audio Mixer (all Serial Numbers)
Knob – Inputs 1-8 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Inputs 1-8 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Inputs 1-4 (Order Code: 2145) ______ $  4.00 ___________
Potentiometer – Inputs 5-8 (Order Code: 2166) ______ $  4.00 ___________
Potentiometer – Master and Monitor (dual-shaft) (Order Code: 2167) ______ $12.00 ___________
Knob (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14253)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14255 for knob cap (top)  
and 14254 for knob (bottom).
Knob Cap (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14255)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for knob (top)  
and 14254 for knob (bottom).
Knob (Bottom) – Master and Monitor (black w/white line, 15 mm) (Order Code: 14254)  ______ $  4.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for knob (top)  
and 14255 for knob cap (top).

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 26

Model 742A Audio Mixer (all Serial Numbers)
4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________
Knob – Inputs 1-8 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.
Knob Cap – Inputs 1-8 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Potentiometer – Inputs 1-4 (Order Code: 2145) ______ $  4.00 ___________
Potentiometer – Inputs 5-8 (Order Code: 2166) ______ $  4.00 ___________
Potentiometer – Master and Monitor (dual-shaft) (Order Code: 2167) ______ $12.00 ___________
Knob (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14253)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14255 for knob cap (top)  
and 14254 for knob (bottom).
Knob Cap (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14255)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for knob (top)  
and 14254 for knob (bottom).
Knob (Bottom) – Master and Monitor (black w/white line, 15 mm) (Order Code: 14254)  ______ $  4.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for knob (top)  
and 14255 for knob cap (top).
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 750 Audio Mixer (Serial Numbers 00151 – 00400)
Potentiometer – Mic/Line Input (dual-shaft, 3-section 10KB//50KA/50KA) (Order Code: 2130) ______ $16.00 ___________
Potentiometer – Stereo Line Input, Main, and Aux Outputs (dual-shaft 50KA/50KA)  
(Order Code: 2131) ______ $12.00 ___________
Potentiometer – Speaker and Phones (single-shaft, dual-section 10KA/10KA) (Order Code: 2128) ______ $  8.00 ___________
Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Cap (illuminated, gray, 12.5 mm x 6.8 mm) (Order Code: 14228) ______ $  3.00 ___________
Pushbutton Cap (gray, 5.5 mm square) (Order Code: 14229) ______ $  1.50 ___________
Knob – Speaker and Phones (black w/white line, 16 mm) (Order Code: 14231)  ______ $  3.00 ___________
Knob Base– Inputs and Master (black w/white line, 16 mm) (Order Code: 14233)  ______ $  3.00 ___________ 
Note: Knob base and knob top are sold separately. See 14232 for knob top.
Knob Top– Inputs and Master (black w/white line, 10.5 mm) (Order Code: 14232)  ______ $  3.00 ___________ 
Note: Knob base and knob top are sold separately. See 14233 for knob base.

Model 750 Audio Mixer (Serial Numbers 00401 – later)
Potentiometer – Mic/Line Input (dual-shaft, 3-section 10KB//50KA/50KA) (Order Code: 2130) ______ $16.00 ___________
Potentiometer – Stereo Line Input, Main, and Aux Outputs (dual-shaft 50KA/50KA)  
(Order Code: 2131) ______ $12.00 ___________
Potentiometer – Speaker and Phones (single-shaft, dual-section 10KA/10KA) (Order Code: 2128) ______ $  8.00 ___________
Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________
Pushbutton Cap (illuminated, gray, 12.5 mm x 6.8 mm) (Order Code: 14228) ______ $  3.00 ___________
Pushbutton Cap (gray, 5.5 mm square) (Order Code: 14229) ______ $  1.50 ___________
Knob – Speaker and Phones (black, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14252 for knob cap.
Knob Cap – Speaker and Phones (gray w/black line, 15 mm) (Order Code: 14252)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.
Knob Base – Inputs and Master (black w/white line, 15 mm) (Order Code: 14249)  ______ $  3.00 ___________ 
Note: Knob base, knob top, and knob cap are sold separately. See 14250 for knob top and  
14251 for knob cap.
Knob Top – Inputs and Master (black w/white line, push-on, 11 mm) (Order Code: 14250)  ______ $  3.00 ___________ 
Note: Knob base, knob top, and knob cap are sold separately. See 14249 for knob base and  
14251 for knob cap.
Knob Cap – Inputs and Master (gray w/black line, 11 mm) (Order Code: 14251)  ______ $  3.00 ___________ 
Note: Knob base, knob top, and knob cap are sold separately. See 14249 for knob base and  
14250 for knob top.

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 27

Model 760-Series Central Controllers (all serial numbers)
Power Supply Assembly (universal AC mains input/12 V, 1.25 A (15 watts) output)  
(Order Code: 32226)  ______ $65.00 ___________ 
Note: Replaces discontinued Phihong PSA15LN3-120-R power supply.

Model 761 Central Controller (all serial numbers)
Capacitor (surface mount, aluminum electrolytic, 47 uF, 25 V) (Order Code: 4975) ______ $  2.00 ___________ 
Mfg. No.: Panasonic FK-Series, EEE-FK1E470P; Digi-Key No.: PCE3804, Mouser No. 667-EEE-FK1E470P 
Alternate, Mfg. No.: Nichicon UUD-Series, UUD1E470MCL1GS; Digi-Key No. 493-2273-2, Mouser No. 647-UUD1E470MCL 
Notes: For revision B circuit boards: C36, C73, C178, C193 (C193 is bypass for –15 volt DC rail and is most critical) 
For revision C circuit boards: C39, C76, C181, C196 (C196 is bypass for –15 volt DC rail and is most critical)

Model 780-Series Central Controllers (all serial numbers)
Power Supply Assembly (universal AC mains input/12 V, 1.25 A (15 watts) output)  
(Order Code: 32226)  ______ $65.00 ___________ 
Note: Replaces discontinued Phihong PSA15LN3-120-R power supply.

Model 790 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder Assembly – Level (Order Code: 31378) ______ $  9.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 791 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder – Level (Order Code: 12034) ______ $  4.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 792 Central Controller (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298) ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 28

Model 793 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder Assembly – Level (Order Code: 12110) ______ $  9.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

Model 794-Series Central Controllers (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298) ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

Model 795 Control Console (all Serial Numbers)
Pushbutton Switch (momentary) (Order Code: 12055)  ______ $  4.00 ___________ 
Mfg. No.: E-Switch 320E1-1BLK; Digi-Key No.: EG1301-ND
Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.
Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.
Rotary Encoder Assembly – Level (Order Code: 12110) ______ $  9.00 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 0.138” tall) (Order Code: 14028) ______ $  2.00 ___________
9-Pin Male D-Sub/9-Pin Male D-Sub Cable Assembly (overall length 25 feet/7.7 m)  
(Order Code: 13179-20) ______ $26.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 29

Model 5100-Series Broadcast Support Modules (all Serial Numbers)
Contact Factory as Required

Model 5202 Dante to Phones and Line Output Interface (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 5204 Dual Line Input to Dante Interface (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

Model 5304 Intercom Station (all Serial Numbers)
Knob – Glow (black w/clear center, 13 mm dia. x 13.8 mm tall) (Order Code: 14340)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 21 mm overall length) (Order Code: 12109)  ______ $  8.00 ___________
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________
Rubber Bumper (black, set of 4, 1/2" dia. by 7/32" tall) (Order Code: 14339) ______ $  6.00 ___________ 
Note: Bumpers and machine screws are sold separately. See 8032-5/16 for screws.
Machine Screw (SEMS, 4-40x5/16") (Order Code: 8032-5/16)  ______ $  0.50 ___________ 
Note: Machine screws and bumpers are sold separately. See 14339 for bumpers.

Model 5312 Intercom Station (all Serial Numbers)
Knob – Glow (black w/clear center, 13 mm dia. x 13.8 mm tall) (Order Code: 14340)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 21 mm overall length) (Order Code: 12109)  ______ $  8.00 ___________
Pushbutton Switch (momentary, 17 mm x 17 mm) (Order Code: 12106)  ______ $  6.00 ___________ 
Note: Includes button cap and lens. See 32649 for replacement button cap and lens kit.
Button Cap and Lens Kit (includes four each button cap and frosted lens) (Order Code: 32649) ______ $24.00 ___________
Loudspeaker (37 mm dia., 8 ohm) (Order Code: 10702)  ______ $22.00 ___________ 
Mfg. No.: Visaton: BF37/2261; Parts Express No.: 292-655
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: For use with microphone bushing.
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 30

Model 5330 Flex-Use Dante Audio Interface (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298)  ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S
3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

Model 5364 Headset Interface (all Serial Numbers)
Rubber Bumper (black, set of 4, 1/2" dia. by 7/32" tall) (Order Code: 14339) ______ $  6.00 ___________ 
Note: Bumpers and machine screws are sold separately. See 8032-5/16 for screws.
Machine Screw (SEMS, 4-40x5/16") (Order Code: 8032-5/16)  ______ $  0.50 ___________ 
Note: Machine screws and bumpers are sold separately. See 14339 for bumpers.

Model 5365 Headset Interface (all Serial Numbers)
Rubber Bumper (black, set of 4, 1/2” dia. by 7/32” tall) (Order Code: 14339) ______ $  6.00 ___________ 
Note: Bumpers and machine screws are sold separately. See 8032-5/16 for screws.
Machine Screw (SEMS, 4-40x5/16”) (Order Code: 8032-5/16)  ______ $  0.50 ___________ 
Note: Machine screws and bumpers are sold separately. See 14339 for bumpers.

Model 5401 Dante Master Clock (all Serial Numbers)
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 5401A Dante Leader Clock (Serial Numbers 00151 – 02200)
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 5401A Dante Leader Clock (Serial Numbers 02201 – later)
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

Model 5402 Dante Leader Clock with GNSS Synchronization (Serial Numbers 00151 – 02100)
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S
GNSS Antenna (Order Code: ANT-GNSS-01)  ______ $92.00 ___________ 
Mfg. No.: U-Blox ANN-MB-00-00; Digi-Key No.: 672-ANN-MB-00-00-ND

Model 5402 Dante Leader Clock with GNSS Synchronization (Serial Numbers 02101 – later)
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12
GNSS Antenna (Order Code: ANT-GNSS-01)  ______ $92.00 ___________ 
Mfg. No.: U-Blox ANN-MB-00-00; Digi-Key No.: 672-ANN-MB-00-00-ND

Model 5412-Series Audio Interfaces (all Serial Numbers)
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 31

Model 5414 Mic/Line Input & Line Output Interface
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Pushbutton Switch (momentary) – Channel Select (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

For Serial Numbers 00151-01150
Push-Pot Potentiometer Assembly (dual-section) (Order Code: 32298) ______ $  9.00 ___________ 
Note: Includes push-pot (2171) and sleeve (14297).

For Serial Numbers 01151-later
Push-Pot Potentiometer Assembly (single-section) (Order Code: 32299) ______ $  9.00 ___________ 
Note: Includes push-pot (2172) and sleeve (14297).

MD-4 Mic/Line Input & Line Output Interface (all Serial Numbers)
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately. See 14287 for knob.
Push-Pot Potentiometer Assembly (single-section) (Order Code: 32299) ______ $  9.00 ___________ 
Note: Includes push-pot (2172) and sleeve (14297).
Pushbutton Switch (momentary) – Channel Select (Order Code: 12056) ______ $  4.00 ___________
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 5418 Mic/Line Interface (Serial Numbers 00151 – 00500)
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

Model 5418 Mic/Line Interface (Serial Numbers 00501 – later)
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

Model 5421 Dante Intercom Audio Engine (all Serial Numbers)
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

Model 5421A Dante Intercom Audio Engine (all Serial Numbers)
Screw-On Bumper Kit (black, set of 8) (Order Code: 31064) ______ $10.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 32

Model 5422-Series Dante Audio Intercom Engines (all Serial Numbers)
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 5422A-Series Dante Audio Intercom Engines (Serial Numbers 00151 – 01400)
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 5422A-Series Dante Audio Intercom Engines (Serial Numbers 01401 – later)
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

Model 5482-Series Dante Bridges (Serial Numbers 00151 – 00400)
Power Supply (universal AC mains input/12 V, 1.25 A (15 watts) output) (Order Code: 10354)  ______ $35.00 ___________ 
Mfg. No.: Cincon CFM1502S; Digi-Key No.: 2034-3555-ND; Mouser No.: 418-CFM1502S

Model 5482-Series Dante Bridges (Serial Numbers 00401 – later)
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

Model 5512-Series Audio Interfaces (all Serial Numbers)
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

Model 5512A-Series Audio Interfaces (all Serial Numbers)
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

Model 5518 Mic/Line Interface (Serial Numbers 00151 – 00500)
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4” phone jack.
Power Supply (universal AC mains input/12 V, 1.8 A (20 watts) output) (Order Code: 10355)  ______ $32.00 ___________ 
Mfg. No.: Cincon CFM2002S; Digi-Key No.: 2034-3589-ND; Mouser No.: 418-CFM2002S

Model 5518 Mic/Line Interface (Serial Numbers 00501 – later)
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4” phone jack.
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

Model 5518A Mic/Line Interface (all Serial Numbers)
Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4” phone jack.
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 33

 Qty US List Total

Model 5532, Model 5534, and Model 5536 Announcer’s Consoles
Pushbutton Switch (momentary) (Order Code: 12106)  ______ $  8.00 ___________ 
Note: Does not include button cap. See 32670 for replacement button cap kit.
Button Cap Kit (includes four 12112 button caps, 17.3 mm square) (Order Code: 32670) ______ $32.00 ___________
1/4” Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4” phone jack. See 1090 for nut.
Nut (plastic) (Order Code: 1090)  Note: For use with 1/4” phone jack. ______ $  1.50 ___________
Self-Adhesive Rubber Bumpons (black, set of 4, 1/2” dia. by 1/4” tall) (Order Code: 14326) ______ $  3.00 ___________
Blank Plate – XLR (black) (Order Code: 1073) ______ $  3.00 ___________
Knob – Glow (black w/clear center, 13 mm dia. x 13.8 mm tall) (Order Code: 14340)  ______ $  5.00 ___________
Rotary Encoder (24-step w/switch, 21 mm overall length) (Order Code: 12109)  ______ $  8.00 ___________

Model 5682-Series ST 2110 to Dante Bridges (All Serial Numbers)
Power Supply (universal AC mains input/12 V, 2.5 A (30 watts) output) (Order Code: 10362)  ______ $32.00 ___________ 
Mfg. No.: Mean Well MFM-30-12; Digi-Key No.: 1866-3418-ND; Mouser No.: 709-MFM30-12



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 34

Live-Link Sr. Remote Camera Interface Systems (all Serial Numbers)

Live-Link Sr. Portable Cover Assembly for Anton-Bauer Battery (Order Code: LL-COVER-01) ______ $303.00 ___________ 
Note: Consists of portable cover (31341) with lifting handle (32204), Anton-Bauer Bracket  
Kit (31414), and bumpers (32297) installed.
Portable Cover (Order Code: 31341) ______ $150.00 ___________ 
Note: Does not include lifting handle, battery bracket, bumpers, or hardware.
Lifting Handle Kit (black lifting handle and set of 6 6-32x1/4" screws) (Order Code: 32204) ______ $  26.00 ___________
Anton-Bauer Battery Bracket Kit (battery bracket w/insulator and 15" cable assembly)  
(Order Code: 31414) ______ $115.00 ___________
Back of Cover Bumper Kit (set of 4 each 3/4" dia. by 5/8" tall bumpers, 10-24x3/4" screws, and  
10-24 nylock nuts) (Order Code: 32297) Note: Used for back of portable enclosure. ______ $  12.00 ___________

Live-Link Sr. Cover for Special Installations (Order Code: LL-COVER-02) ______ $150.00 ___________ 
Note: Consists only of protective cover (31351) with no provision for attaching lifting handle,  
battery bracket, or bumpers.

Live-Link Sr. Portable Cover Assembly for V-Mount Battery (Order Code: LL-COVER-03) ______ $303.00 ___________ 
Note: Consists of portable cover (modified 31341) with lifting handle (32204), V-Mount  
Bracket (14301), and bumpers (32297) installed.
Chassis Bumper Kit (set of 4 each 1.5" dia. by 3/4" tall bumpers, 80918-.708 screws, and  
1/4-20 Keps nuts) (Order Code: 32203) Note: Used for bottom of portable enclosure. ______ $  16.00 ___________
12 Vdc, 5 A Power Supply (output terminated onto 4-pin female XLR connector)  
(Order Code: PS-DC-01) ______ $110.00 ___________

Audio Cable (XLR5M to XLR3F/XLR3M) (Order Code: 13662) ______ $  42.00 ___________
10/100/1000 Ethernet Media Converter Upgrade Kit (Order Code: M432-KIT) ______ $240.00 ___________

Live-Link Jr. Remote Camera Interface Systems (all Serial Numbers)
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $    4.00 ___________
Pushbutton Cap – Truck End Auto Null (gray) (Order Code: 14207) ______ $    3.00 ___________
Chassis Bumper Kit (set of 4 each 3/4" dia. by 3/8" tall bumpers and 6-32x3/8" screws)  
(Order Code: 32202) Note: Used for bottom of portable enclosure. ______ $  12.00 ___________
Lifting Handle Kit (black lifting handle and set of 6 6-32x1/4" screws) (Order Code: 32204) ______ $  26.00 ___________
12 Vdc, 1.55 A Power Supply (output terminated onto 4-pin female XLR connector)  
(Order Code: PS-DC-02) ______ $  88.00 ___________

Live-Link Mini Remote Camera Interface Systems (all Serial Numbers)
Pushbutton Switch (momentary) – Auto Null (Order Code: 12056) ______ $    4.00 ___________
Pushbutton Cap – Camera End and Truck End Auto Null (gray) (Order Code: 14207) ______ $    3.00 ___________
Chassis Bumper Kit (set of 4 each 5/8" dia. by 3/4" tall bumpers and 6-32x5/8" screws)  
(Order Code: 32205) Note: Used for bottom of portable enclosure. ______ $  12.00 ___________
Lifting Handle Kit (black lifting handle and set of 6 6-32x1/4" screws) (Order Code: 32204) ______ $  26.00 ___________
12 Vdc, 1.55 A Power Supply (output terminated onto 4-pin female XLR connector)  
(Order Code: PS-DC-02) ______ $  88.00 ___________

Audio Cable (XLR5F to Dual XLR3M) (Order Code: 13684) ______ $  42.00 ___________

 Qty US List Total



© 2025 Studio Technologies, Inc. Replacement Parts List 50490-0725, Issue 25, Page 35

Live-Link Miscellaneous Parts (contact factory for part identification assistance)
BNC-BNC Bulkhead Connector (with nut and lockwasher) (Order Code: 1243) ______ $  10.00 ___________
ST-ST Optical Barrel Connector (with nut and lockwasher) (Order Code: 1260) ______ $    6.00 ___________
SFP Optical Module (video, transceiver) (Order Code: 6406) ______ $184.00 ___________ 
Note: 1310 nm FP Laser; MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1330-10D.
SFP Optical Module (video, transceiver) (Order Code: 6412) ______ $290.00 ___________ 
Note: 1550 nm CWDM Laser; MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1630-18D0.
SFP Optical Module (video, single-channel receiver) (Order Code: 6411) ______ $156.00 ___________ 
Note: Non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-30R-DN.
SFP Optical Module (video, single-channel transmitter) (Order Code: 6413) ______ $210.00 ___________ 
Note: 1530 nm CWDM Laser; non-MSA, supports 3G SDI video. Mfg. No.: Eoptolink EOLS-1630T-DNN.
SFP Optical Module (Ethernet, transceiver) (Order Code: 6418) ______ $  85.00 ___________ 
Note: 1490 nm CWDM laser, MSA, supports 10/100/1000 Ethernet. Mfg. No.: ATOP APSC49123CXL40.
Optical Multiplexer (“mux”) (3 inputs/1 output) (Order Code: 10826) ______ $  70.00 ___________ 
Note: 1310, 1490, and 1550 nm inputs use LC optical connectors; output uses ST optical connector.
Optical Demultiplexer (“demux”) (1 input/3 outputs) (Order Code: 10827) ______ $  95.00 ___________ 
Note: Input uses ST optical connector; 1310, 1490, and 1550 nm outputs use LC optical connectors.
Optical Multiplexer (“mux”) (3 inputs/1 output) (Order Code: 10833) ______ $  70.00 ___________ 
Note: 1310, 1490, and 1550 nm inputs use LC connectors; output uses LC optical connector.
Optical Demultiplexer (“demux”) (1 input/3 outputs) (Order Code: 10834) ______ $  95.00 ___________ 
Note: Input uses LC optical connector, 1310, 1490, and 1550 nm outputs use LC optical connectors.
Optical Multiplexer (“mux”) (4 inputs/1 output) (Order Code: 10831) ______ $105.00 ___________ 
Note: 1310, 1490, 1530, and 1550 nm inputs use LC optical connectors; output uses ST optical  
connector.
Optical Demultiplexer (“demux”) (1 input/4 outputs) (Order Code: 10832) ______ $120.00 ___________ 
Note: Input uses ST optical connector; 1310, 1490, 1530, and 1550 nm outputs use LC optical  
connectors.
Optical Demultiplexer (“demux”) (1 input/6 outputs) (Order Code: 10853) ______ $160.00 ___________ 
Note: Input uses ST optical connector; 1310, 1470, 1490, 1510, 1530, and 1550 nm outputs  
use LC optical connectors.
Optical Jumper Cable (single-mode, length 280 mm overall) (Order Code: 10845) ______ $    9.00 ___________ 
Note: LC optical connectors on both ends.
Optical Jumper Cable (single-mode, length 300 mm overall) (Order Code: 10846) ______ $    9.00 ___________ 
Note: LC optical connector on one end, ST optical connector on other end.

Miscellaneous Parts
Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Knob (blue w/no line, 9 mm) (Order Code: 14310) ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Knob (green w/no line, 9 mm) (Order Code: 14311) ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Knob (gold w/no line, 9 mm) (Order Code: 14312) ______ $  3.00 ___________ 
Note: Knob and set screw are sold separately. See 8210-1/8 for set screw.
Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Set screw and knob are sold separately.

Notes:
Prices effective July 7, 2025. Subject to change without notice. All shipments FOB Skokie, IL 60077 USA.

 Qty US List Total


	Knob Cap  Program and Monitor Output black wwhite line 15 mm Order Code 2057 1: 
	Knob Cap  Program and Monitor Output black wwhite line 15 mm Order Code 2057 2: 
	Knob Cap  Program and Monitor Output black wwhite line 15 mm Order Code 2057 3: 
	Pushbutton Switch Assembly 6position interlock  Program Select Order Code 12036 1: 
	Pushbutton Switch Assembly 6position interlock  Program Select Order Code 12036 2: 
	Pushbutton Switch Assembly 6position interlock  Program Select Order Code 12036 3: 
	undefined_4: 
	300: 
	150: 
	400: 
	400_2: 
	undefined_5: 
	400_3: 
	1200: 
	2600: 
	2200: 
	1: 
	2: 
	3: 
	2200_2: 
	2200_3: 
	300_2: 
	undefined_6: 
	300_3: 
	150_2: 
	400_4: 
	Knob Cap  Program and Monitor Output black wwhite line 15 mm Order Code 2057 1_2: 
	Knob Cap  Program and Monitor Output black wwhite line 15 mm Order Code 2057 2_2: 
	Knob Cap  Program and Monitor Output black wwhite line 15 mm Order Code 2057 3_2: 
	400_5: 
	400_6: 
	1_2: 
	2_2: 
	1200_2: 
	900: 
	900_2: 
	1_3: 
	2_3: 
	3_2: 
	300_4: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303: 
	4500: 
	undefined_7: 
	1400: 
	4000: 
	1_4: 
	2_4: 
	400_7: 
	undefined_8: 
	1400_2: 
	4000_2: 
	1_5: 
	2_5: 
	400_8: 
	300_5: 
	150_3: 
	1_6: 
	2_6: 
	3_3: 
	400_9: 
	600: 
	700: 
	800: 
	700_2: 
	500: 
	1_7: 
	2_7: 
	3_4: 
	4: 
	5: 
	6: 
	100: 
	300_6: 
	150_4: 
	1_8: 
	2_8: 
	3_5: 
	400_10: 
	600_2: 
	700_3: 
	800_2: 
	400_11: 
	500_2: 
	1_9: 
	2_9: 
	3_6: 
	4_2: 
	5_2: 
	6_2: 
	100_2: 
	300_7: 
	150_5: 
	1_10: 
	2_10: 
	3_7: 
	400_12: 
	600_3: 
	700_4: 
	800_3: 
	1_11: 
	2_11: 
	3_8: 
	4_3: 
	400_13: 
	150_6: 
	1_12: 
	2_12: 
	300_8: 
	500_3: 
	1_13: 
	2_13: 
	100_3: 
	300_9: 
	150_7: 
	1_14: 
	2_14: 
	3_9: 
	400_14: 
	900_3: 
	700_5: 
	800_4: 
	1_15: 
	2_15: 
	3_10: 
	4_4: 
	400_15: 
	150_8: 
	1_16: 
	2_16: 
	500_4: 
	undefined_9: 
	100_4: 
	1_17: 
	2_17: 
	3_11: 
	300_10: 
	150_9: 
	400_16: 
	1_18: 
	2_18: 
	3_12: 
	4_5: 
	900_4: 
	700_6: 
	800_5: 
	400_17: 
	1_19: 
	2_19: 
	150_10: 
	300_11: 
	1_20: 
	2_20: 
	500_5: 
	100_5: 
	300_12: 
	150_11: 
	1_21: 
	2_21: 
	3_13: 
	400_18: 
	600_4: 
	800_6: 
	1_22: 
	2_22: 
	3_14: 
	400_19: 
	150_12: 
	1_23: 
	2_23: 
	300_13: 
	500_6: 
	1_24: 
	2_24: 
	100_6: 
	300_14: 
	150_13: 
	1_25: 
	2_25: 
	3_15: 
	500_7: 
	300_15: 
	300_16: 
	700_7: 
	800_7: 
	1_26: 
	2_26: 
	3_16: 
	4_6: 
	5_3: 
	600_5: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028: 
	200: 
	300_17: 
	150_14: 
	1_27: 
	2_27: 
	3_17: 
	500_8: 
	300_18: 
	300_19: 
	700_8: 
	800_8: 
	1_28: 
	2_28: 
	3_18: 
	4_7: 
	5_4: 
	700_9: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1: 
	200_2: 
	1_29: 
	2_29: 
	3_19: 
	300_20: 
	150_15: 
	400_20: 
	1_30: 
	2_30: 
	3_20: 
	400_21: 
	150_16: 
	300_21: 
	1_31: 
	2_31: 
	3_21: 
	4_8: 
	5_5: 
	5600: 
	5600_2: 
	5600_3: 
	500_9: 
	100_7: 
	300_22: 
	150_17: 
	1_32: 
	2_32: 
	3_22: 
	400_22: 
	600_6: 
	8400: 
	500_10: 
	1_33: 
	2_33: 
	3_23: 
	4_9: 
	100_8: 
	300_23: 
	150_18: 
	1_34: 
	2_34: 
	3_24: 
	400_23: 
	400_24: 
	150_19: 
	1_35: 
	2_35: 
	3_25: 
	150_20: 
	300_24: 
	150_21: 
	1_36: 
	2_36: 
	3_26: 
	400_25: 
	400_26: 
	150_22: 
	1_37: 
	2_37: 
	3_27: 
	150_23: 
	300_25: 
	150_24: 
	1_38: 
	2_38: 
	3_28: 
	400_27: 
	400_28: 
	150_25: 
	1_39: 
	2_39: 
	3_29: 
	150_26: 
	500_11: 
	1_40: 
	2_40: 
	1000: 
	500_12: 
	1_41: 
	2_41: 
	1000_2: 
	600_7: 
	400_29: 
	300_26: 
	1_42: 
	2_42: 
	3_30: 
	4_10: 
	1000_3: 
	undefined_10: 
	4600: 
	600_8: 
	400_30: 
	300_27: 
	1_43: 
	2_43: 
	3_31: 
	4_11: 
	1000_4: 
	undefined_11: 
	4600_2: 
	500_13: 
	400_31: 
	300_28: 
	1_44: 
	2_44: 
	3_32: 
	4_12: 
	1000_5: 
	500_14: 
	400_32: 
	300_29: 
	1_45: 
	2_45: 
	3_33: 
	4_13: 
	1000_6: 
	500_15: 
	400_33: 
	1_46: 
	2_46: 
	3_34: 
	300_30: 
	500_16: 
	400_34: 
	1_47: 
	2_47: 
	3_35: 
	300_31: 
	500_17: 
	400_35: 
	1_48: 
	2_48: 
	3_36: 
	300_32: 
	500_18: 
	400_36: 
	1_49: 
	2_49: 
	3_37: 
	300_33: 
	undefined_12: 
	1000_7: 
	400_37: 
	300_34: 
	150_27: 
	1_50: 
	2_50: 
	3_38: 
	4_14: 
	1200_3: 
	1800: 
	400_38: 
	1_51: 
	2_51: 
	3_39: 
	1200_4: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_2: 
	200_3: 
	400_39: 
	1400_3: 
	300_35: 
	1_52: 
	2_52: 
	3_40: 
	4_15: 
	500_19: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_3: 
	200_4: 
	400_40: 
	1400_4: 
	300_36: 
	1_53: 
	2_53: 
	3_41: 
	4_16: 
	500_20: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_4: 
	200_5: 
	400_41: 
	600_9: 
	1_54: 
	2_54: 
	3_42: 
	300_37: 
	150_28: 
	1_55: 
	2_55: 
	800_9: 
	300_38: 
	1600: 
	1_56: 
	2_56: 
	3_43: 
	400_42: 
	400_43: 
	150_29: 
	1_57: 
	2_57: 
	3_44: 
	700_10: 
	300_39: 
	150_30: 
	1_58: 
	2_58: 
	3_45: 
	800_10: 
	300_40: 
	1600_2: 
	1_59: 
	2_59: 
	3_46: 
	400_44: 
	400_45: 
	150_31: 
	1_60: 
	2_60: 
	3_47: 
	700_11: 
	300_41: 
	150_32: 
	1_61: 
	2_61: 
	3_48: 
	800_11: 
	300_42: 
	1600_3: 
	1200_5: 
	1_62: 
	2_62: 
	3_49: 
	4_17: 
	400_46: 
	400_47: 
	700_12: 
	300_43: 
	1_63: 
	2_63: 
	3_50: 
	4_18: 
	500_21: 
	200_6: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_2: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_2: 
	2600_2: 
	400_48: 
	1400_5: 
	300_44: 
	1_64: 
	2_64: 
	3_51: 
	4_19: 
	500_22: 
	200_7: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_3: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_3: 
	2600_3: 
	400_49: 
	1400_6: 
	300_45: 
	1_65: 
	2_65: 
	3_52: 
	4_20: 
	500_23: 
	200_8: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_4: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_4: 
	2600_4: 
	400_50: 
	700_13: 
	200_9: 
	1_66: 
	2_66: 
	3_53: 
	4_21: 
	400_51: 
	200_10: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_5: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_5: 
	2600_5: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_5: 
	200_11: 
	undefined_13: 
	400_52: 
	400_53: 
	1400_7: 
	300_46: 
	1_67: 
	2_67: 
	3_54: 
	4_22: 
	1200_6: 
	200_12: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_6: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_6: 
	2600_6: 
	Mfg No Panasonic FKSeries EEEFK1E470P DigiKey No PCE3804 Mouser No 667EEEFK1E470P: 
	200_13: 
	Mfg No Panasonic FKSeries EEEFK1E470P DigiKey No PCE3804 Mouser No 667EEEFK1E470P_2: 
	200_14: 
	undefined_14: 
	6500: 
	undefined_15: 
	6500_2: 
	undefined_16: 
	400_54: 
	undefined_17: 
	700_14: 
	undefined_18: 
	200_15: 
	undefined_19: 
	900_5: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_6: 
	200_16: 
	undefined_20: 
	2600_7: 
	undefined_21: 
	400_55: 
	700_15: 
	1_68: 
	2_68: 
	200_17: 
	undefined_22: 
	900_6: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_7: 
	200_18: 
	undefined_23: 
	2600_8: 
	undefined_24: 
	400_56: 
	undefined_25: 
	1400_8: 
	undefined_26: 
	300_47: 
	undefined_27: 
	500_24: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_8: 
	200_19: 
	undefined_28: 
	2600_9: 
	300_48: 
	050: 
	900_7: 
	1_69: 
	2_69: 
	3_55: 
	4_23: 
	600_10: 
	2400: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2: 
	400_57: 
	150_33: 
	1_70: 
	2_70: 
	300_49: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_9: 
	200_20: 
	Model 203 Model 204 Model 205 and Model 206 Announcers Consoles all Serial Numbers: 
	300_50: 
	050_2: 
	900_8: 
	1_71: 
	2_71: 
	3_56: 
	600_11: 
	2400_2: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_2: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_2: 
	400_58: 
	150_34: 
	1_72: 
	2_72: 
	300_51: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_10: 
	200_21: 
	300_52: 
	050_3: 
	900_9: 
	1_73: 
	2_73: 
	3_57: 
	4_24: 
	600_12: 
	2400_3: 
	500_25: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_3: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_3: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 3: 
	300_53: 
	300_54: 
	050_4: 
	900_10: 
	1_74: 
	2_74: 
	3_58: 
	4_25: 
	600_13: 
	2400_4: 
	500_26: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_4: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_4: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 3_2: 
	300_55: 
	300_56: 
	050_5: 
	900_11: 
	150_35: 
	150_36: 
	400_59: 
	1_75: 
	2_75: 
	3_59: 
	4_26: 
	5_6: 
	6_3: 
	7: 
	150_37: 
	undefined_29: 
	300_57: 
	500_27: 
	800_12: 
	1_76: 
	2_76: 
	3_60: 
	600_14: 
	2400_5: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_5: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_5: 
	400_60: 
	150_38: 
	1_77: 
	2_77: 
	300_58: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 1: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 2: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 3: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 4: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 5: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 6: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 7: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 8: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 9: 
	undefined_30: 
	1400_9: 
	1_78: 
	2_78: 
	4000_3: 
	300_59: 
	1_79: 
	2_79: 
	150_39: 
	500_28: 
	1_80: 
	2_80: 
	3_61: 
	400_61: 
	150_40: 
	1200_7: 
	400_62: 
	300_60: 
	1500: 
	1500_2: 
	1500_3: 
	1800_2: 
	1800_3: 
	1800_4: 
	1000_8: 
	undefined_31: 
	4600_3: 
	1_81: 
	2_81: 
	300_61: 
	1400_10: 
	1_82: 
	2_82: 
	4000_4: 
	300_62: 
	1_83: 
	2_83: 
	150_41: 
	500_29: 
	1_84: 
	2_84: 
	3_62: 
	400_63: 
	150_42: 
	1000_9: 
	1_85: 
	2_85: 
	3_63: 
	4_27: 
	300_63: 
	1500_4: 
	1500_5: 
	1500_6: 
	300_64: 
	1_86: 
	2_86: 
	1400_11: 
	4000_5: 
	1_87: 
	2_87: 
	300_65: 
	150_43: 
	1_88: 
	2_88: 
	500_30: 
	400_64: 
	150_44: 
	1_89: 
	2_89: 
	3_64: 
	1000_10: 
	300_66: 
	1_90: 
	2_90: 
	1000_11: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_6: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_6: 
	1_91: 
	2_91: 
	3_65: 
	4_28: 
	300_67: 
	050_6: 
	900_12: 
	600_15: 
	2400_6: 
	400_65: 
	1_92: 
	2_92: 
	3_66: 
	150_45: 
	300_68: 
	300_69: 
	1_93: 
	2_93: 
	500_31: 
	800_13: 
	1_94: 
	2_94: 
	500_32: 
	800_14: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 1_2: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 2_2: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 3_2: 
	Cable Assembly for DC Power Entry Jack Assembly 2conductor 5 Order Code 13690 4_2: 
	1_95: 
	2_95: 
	300_70: 
	1400_12: 
	1_96: 
	2_96: 
	4000_6: 
	300_71: 
	1_97: 
	2_97: 
	150_46: 
	500_33: 
	1_98: 
	2_98: 
	3_67: 
	400_66: 
	150_47: 
	1200_8: 
	400_67: 
	300_72: 
	1800_5: 
	1000_12: 
	undefined_32: 
	4600_4: 
	300_73: 
	050_7: 
	900_13: 
	1_99: 
	2_99: 
	3_68: 
	4_29: 
	600_16: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649: 
	2400_7: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028_11: 
	200_22: 
	undefined_33: 
	600_17: 
	2400_8: 
	500_34: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_7: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_7: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 3_3: 
	2200_4: 
	050_8: 
	1_100: 
	2_100: 
	300_74: 
	undefined_34: 
	300_75: 
	500_35: 
	1_101: 
	2_101: 
	800_15: 
	500_36: 
	1_102: 
	2_102: 
	800_16: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_8: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_8: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 3_4: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 4: 
	undefined_35: 
	300_76: 
	1_103: 
	2_103: 
	050_9: 
	900_14: 
	undefined_36: 
	600_18: 
	2400_9: 
	400_68: 
	300_77: 
	050_10: 
	undefined_37: 
	600_19: 
	undefined_38: 
	050_11: 
	undefined_39: 
	300_78: 
	undefined_40: 
	050_12: 
	900_15: 
	1_104: 
	2_104: 
	600_20: 
	2400_10: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_9: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_9: 
	050_13: 
	undefined_41: 
	600_21: 
	undefined_42: 
	050_14: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_10: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_10: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 3_5: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 4_2: 
	undefined_43: 
	300_79: 
	1_105: 
	2_105: 
	050_15: 
	900_16: 
	undefined_44: 
	600_22: 
	2400_11: 
	400_69: 
	300_80: 
	050_16: 
	undefined_45: 
	600_23: 
	undefined_46: 
	050_17: 
	undefined_47: 
	600_24: 
	300_81: 
	050_18: 
	900_17: 
	400_70: 
	150_48: 
	1_106: 
	2_106: 
	3_69: 
	4_30: 
	5_7: 
	6_4: 
	300_82: 
	500_37: 
	100_9: 
	1_107: 
	2_107: 
	3_70: 
	050_19: 
	300_83: 
	050_20: 
	900_18: 
	400_71: 
	150_49: 
	1_108: 
	2_108: 
	3_71: 
	4_31: 
	5_8: 
	6_5: 
	300_84: 
	500_38: 
	100_10: 
	1_109: 
	2_109: 
	3_72: 
	050_21: 
	1_110: 
	2_110: 
	3_73: 
	4_32: 
	300_85: 
	050_22: 
	400_72: 
	300_86: 
	1_111: 
	2_111: 
	3_74: 
	150_50: 
	150_51: 
	150_52: 
	1_112: 
	2_112: 
	3_75: 
	500_39: 
	100_11: 
	050_23: 
	undefined_48: 
	900_19: 
	undefined_49: 
	900_20: 
	1_113: 
	2_113: 
	3_76: 
	4_33: 
	5_9: 
	6_6: 
	300_87: 
	050_24: 
	900_21: 
	150_53: 
	150_54: 
	150_55: 
	1_114: 
	2_114: 
	500_40: 
	050_25: 
	1_115: 
	2_115: 
	3_77: 
	4_34: 
	5_10: 
	300_88: 
	050_26: 
	900_22: 
	400_73: 
	300_89: 
	1_116: 
	2_116: 
	3_78: 
	150_56: 
	150_57: 
	150_58: 
	1_117: 
	2_117: 
	3_79: 
	500_41: 
	100_12: 
	050_27: 
	300_90: 
	050_28: 
	900_23: 
	150_59: 
	150_60: 
	1_118: 
	2_118: 
	3_80: 
	4_35: 
	5_11: 
	6_7: 
	150_61: 
	500_42: 
	1_119: 
	2_119: 
	050_29: 
	undefined_50: 
	300_91: 
	undefined_51: 
	050_30: 
	undefined_52: 
	900_24: 
	undefined_53: 
	150_62: 
	150_63: 
	1_120: 
	2_120: 
	500_43: 
	undefined_54: 
	100_13: 
	300_92: 
	1_121: 
	2_121: 
	050_31: 
	undefined_55: 
	900_25: 
	undefined_56: 
	150_64: 
	undefined_57: 
	150_65: 
	500_44: 
	1_122: 
	2_122: 
	100_14: 
	undefined_58: 
	300_93: 
	undefined_59: 
	050_32: 
	900_26: 
	1_123: 
	2_123: 
	400_74: 
	300_94: 
	1_124: 
	2_124: 
	150_66: 
	undefined_60: 
	150_67: 
	500_45: 
	100_15: 
	1_125: 
	2_125: 
	3_81: 
	050_33: 
	undefined_61: 
	300_95: 
	undefined_62: 
	050_34: 
	undefined_63: 
	900_27: 
	undefined_64: 
	150_68: 
	undefined_65: 
	150_69: 
	500_46: 
	1_126: 
	2_126: 
	050_35: 
	1_127: 
	2_127: 
	3_82: 
	4_36: 
	5_12: 
	6_8: 
	7_2: 
	300_96: 
	050_36: 
	400_75: 
	150_70: 
	150_71: 
	150_72: 
	500_47: 
	1_128: 
	2_128: 
	100_16: 
	050_37: 
	undefined_66: 
	900_28: 
	undefined_67: 
	900_29: 
	300_97: 
	050_38: 
	900_30: 
	400_76: 
	150_73: 
	150_74: 
	150_75: 
	1_129: 
	2_129: 
	3_83: 
	4_37: 
	5_13: 
	6_9: 
	7_3: 
	8: 
	500_48: 
	undefined_68: 
	100_17: 
	400_77: 
	300_98: 
	1000_13: 
	1_130: 
	2_130: 
	3_84: 
	4_38: 
	400_78: 
	undefined_69: 
	300_99: 
	150_76: 
	150_77: 
	1_131: 
	2_131: 
	3_85: 
	600_25: 
	150_78: 
	150_79: 
	1_132: 
	2_132: 
	3_86: 
	600_26: 
	undefined_70: 
	400_79: 
	undefined_71: 
	400_80: 
	4500_2: 
	45000: 
	55000: 
	15600: 
	18500: 
	21000: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 1: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 3: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 4: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 5: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 6: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 7: 
	33000: 
	undefined_72: 
	1500_7: 
	undefined_73: 
	600_27: 
	7000: 
	1_133: 
	2_133: 
	9500: 
	undefined_74: 
	400_81: 
	undefined_75: 
	12200: 
	undefined_76: 
	400_82: 
	4500_3: 
	45000_2: 
	55000_2: 
	15600_2: 
	18500_2: 
	21000_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 1_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 2_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 3_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 4_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 5_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 6_2: 
	Power Supply universal AC mains input12 V 334 A 40 watts output Order Code 10303 7_2: 
	33000_2: 
	undefined_77: 
	1500_8: 
	undefined_78: 
	600_28: 
	7000_2: 
	1_134: 
	2_134: 
	9500_2: 
	undefined_79: 
	400_83: 
	undefined_80: 
	400_84: 
	undefined_81: 
	1000_14: 
	8800: 
	1_135: 
	2_135: 
	45000_3: 
	undefined_82: 
	55000_3: 
	undefined_83: 
	55000_4: 
	15600_3: 
	18500_3: 
	21000_3: 
	1_136: 
	2_136: 
	3_87: 
	4_39: 
	33000_3: 
	undefined_84: 
	1500_9: 
	undefined_85: 
	600_29: 
	undefined_86: 
	7000_3: 
	undefined_87: 
	9500_3: 
	undefined_88: 
	9500_4: 
	undefined_89: 
	400_85: 
	undefined_90: 
	400_86: 
	undefined_91: 
	1000_15: 
	8800_2: 
	1_137: 
	2_137: 
	15600_4: 
	18500_4: 
	21000_4: 
	1_138: 
	2_138: 
	3_88: 
	33000_4: 
	undefined_92: 
	5500: 
	undefined_93: 
	1500_10: 
	undefined_94: 
	600_30: 
	undefined_95: 
	1000_16: 
	undefined_96: 
	1000_17: 
	400_87: 
	300_100: 
	1_139: 
	2_139: 
	3_89: 
	1000_18: 
	400_88: 
	300_101: 
	1_140: 
	2_140: 
	3_90: 
	1000_19: 
	400_89: 
	300_102: 
	1_141: 
	2_141: 
	3_91: 
	1000_20: 
	400_90: 
	300_103: 
	1_142: 
	2_142: 
	3_92: 
	1000_21: 
	300_104: 
	150_80: 
	1_143: 
	2_143: 
	3_93: 
	400_91: 
	400_92: 
	1200_9: 
	1_144: 
	2_144: 
	3_94: 
	300_105: 
	undefined_97: 
	300_106: 
	undefined_98: 
	400_93: 
	500_49: 
	1_145: 
	2_145: 
	300_107: 
	undefined_99: 
	150_81: 
	400_94: 
	400_95: 
	1200_10: 
	1_146: 
	2_146: 
	3_95: 
	4_40: 
	300_108: 
	undefined_100: 
	300_109: 
	undefined_101: 
	400_96: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354: 
	3500: 
	Potentiometer  MicLine Input dualshaft 3section 10KB50KA50KA Order Code 2130: 
	1600_4: 
	undefined_102: 
	1200_11: 
	800_17: 
	300_110: 
	300_111: 
	150_82: 
	300_112: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 1: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 2: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 3: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 4: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 5: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 6: 
	300_113: 
	undefined_103: 
	300_114: 
	Potentiometer  MicLine Input dualshaft 3section 10KB50KA50KA Order Code 2130_2: 
	1600_5: 
	undefined_104: 
	1200_12: 
	800_18: 
	300_115: 
	300_116: 
	150_83: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 1_2: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 2_2: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 3_2: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 4_2: 
	Potentiometer  Speaker and Phones singleshaft dualsection 10KA10KA Order Code 2128 5_2: 
	300_117: 
	150_84: 
	1_147: 
	2_147: 
	300_118: 
	undefined_105: 
	300_119: 
	undefined_106: 
	300_120: 
	undefined_107: 
	6500_3: 
	Mfg No Panasonic FKSeries EEEFK1E470P DigiKey No PCE3804 Mouser No 667EEEFK1E470P_3: 
	200_23: 
	undefined_108: 
	6500_4: 
	400_97: 
	700_16: 
	200_24: 
	1_148: 
	2_148: 
	3_96: 
	4_41: 
	900_31: 
	200_25: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_7: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_7: 
	2600_10: 
	400_98: 
	700_17: 
	200_26: 
	1_149: 
	2_149: 
	3_97: 
	4_42: 
	400_99: 
	200_27: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_8: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_8: 
	2600_11: 
	300_121: 
	050_39: 
	1_150: 
	2_150: 
	3_98: 
	900_32: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355: 
	3200: 
	400_100: 
	700_18: 
	200_28: 
	1_151: 
	2_151: 
	3_99: 
	4_43: 
	900_33: 
	200_29: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_9: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_9: 
	2600_12: 
	300_122: 
	050_40: 
	1_152: 
	2_152: 
	3_100: 
	900_34: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355_2: 
	3200_2: 
	400_101: 
	700_19: 
	200_30: 
	1_153: 
	2_153: 
	3_101: 
	4_44: 
	900_35: 
	200_31: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 1_10: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 0138 tall Order Code 14028 2_10: 
	2600_13: 
	300_123: 
	050_41: 
	900_36: 
	400_102: 
	1_154: 
	2_154: 
	3_102: 
	4_45: 
	5_14: 
	150_85: 
	300_124: 
	050_42: 
	900_37: 
	1_155: 
	2_155: 
	3_103: 
	4_46: 
	300_125: 
	500_50: 
	800_19: 
	1_156: 
	2_156: 
	3_104: 
	600_31: 
	2400_12: 
	300_126: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_11: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_11: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 3_6: 
	600_32: 
	undefined_109: 
	050_43: 
	500_51: 
	800_20: 
	1_157: 
	2_157: 
	3_105: 
	600_33: 
	2400_13: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 1_12: 
	Button Cap and Lens Kit includes four each button cap and frosted lens Order Code 32649 2_12: 
	2200_5: 
	undefined_110: 
	050_44: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362: 
	3200_3: 
	300_127: 
	050_45: 
	900_38: 
	400_103: 
	1_158: 
	2_158: 
	3_106: 
	4_47: 
	5_15: 
	150_86: 
	3500_2: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354 1: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354 2: 
	300_128: 
	600_34: 
	1_159: 
	2_159: 
	050_46: 
	600_35: 
	1_160: 
	2_160: 
	050_47: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_2: 
	3500_3: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_3: 
	3500_4: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_2: 
	3200_4: 
	3500_5: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354 1_2: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354 2_2: 
	9200: 
	3200_5: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362 1: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362 2: 
	9200_2: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355_3: 
	3200_6: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_4: 
	1_161: 
	2_161: 
	3_107: 
	300_129: 
	050_48: 
	400_104: 
	1_162: 
	2_162: 
	300_130: 
	400_105: 
	undefined_111: 
	150_87: 
	3500_6: 
	undefined_112: 
	900_39: 
	undefined_113: 
	900_40: 
	300_131: 
	050_49: 
	900_41: 
	1_163: 
	2_163: 
	3_108: 
	4_48: 
	400_106: 
	300_132: 
	1_164: 
	2_164: 
	400_107: 
	undefined_114: 
	150_88: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_5: 
	3500_7: 
	300_133: 
	1_165: 
	2_165: 
	400_108: 
	undefined_115: 
	150_89: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355_4: 
	3200_7: 
	300_134: 
	1_166: 
	2_166: 
	400_109: 
	undefined_116: 
	150_90: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_3: 
	3200_8: 
	undefined_117: 
	1000_22: 
	undefined_118: 
	1000_23: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_6: 
	3500_8: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_7: 
	3500_9: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_4: 
	3200_9: 
	Power Supply universal AC mains input12 V 125 A 15 watts output Order Code 10354_8: 
	3500_10: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_5: 
	3200_10: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355_5: 
	3200_11: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355_6: 
	3200_12: 
	300_135: 
	1_167: 
	2_167: 
	400_110: 
	undefined_119: 
	150_91: 
	Power Supply universal AC mains input12 V 18 A 20 watts output Order Code 10355_7: 
	3200_13: 
	300_136: 
	1_168: 
	2_168: 
	400_111: 
	undefined_120: 
	150_92: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_6: 
	3200_14: 
	300_137: 
	1_169: 
	2_169: 
	400_112: 
	undefined_121: 
	150_93: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_7: 
	3200_15: 
	800_21: 
	1_170: 
	2_170: 
	3200_16: 
	400_113: 
	1_171: 
	2_171: 
	150_94: 
	300_138: 
	300_139: 
	500_52: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 14 tall Order Code 14326 1: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 14 tall Order Code 14326 2: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 14 tall Order Code 14326 3: 
	SelfAdhesive Rubber Bumpons black set of 4 12 dia by 14 tall Order Code 14326 4: 
	800_22: 
	Power Supply universal AC mains input12 V 25 A 30 watts output Order Code 10362_8: 
	3200_17: 
	LiveLink Sr Portable Cover Assembly for AntonBauer Battery Order Code LLCOVER01: 
	Lifting Handle Kit black lifting handle and set of 6 632x14 screws Order Code 32204 1: 
	Lifting Handle Kit black lifting handle and set of 6 632x14 screws Order Code 32204 2: 
	Lifting Handle Kit black lifting handle and set of 6 632x14 screws Order Code 32204 3: 
	30300: 
	undefined_122: 
	15000: 
	2600_14: 
	11500: 
	1200_13: 
	undefined_123: 
	15000_2: 
	undefined_124: 
	30300_2: 
	undefined_125: 
	1600_6: 
	1_172: 
	2_172: 
	11000: 
	4200: 
	undefined_126: 
	24000: 
	undefined_127: 
	400_114: 
	undefined_128: 
	300_140: 
	undefined_129: 
	1200_14: 
	Lifting Handle Kit black lifting handle and set of 6 632x14 screws Order Code 32204: 
	2600_15: 
	undefined_130: 
	8800_3: 
	undefined_131: 
	400_115: 
	undefined_132: 
	300_141: 
	undefined_133: 
	1200_15: 
	Lifting Handle Kit black lifting handle and set of 6 632x14 screws Order Code 32204_2: 
	2600_16: 
	8800_4: 
	1_173: 
	2_173: 
	4200_2: 
	undefined_134: 
	1000_24: 
	undefined_135: 
	600_36: 
	18400: 
	29000: 
	15600_5: 
	21000_5: 
	8500: 
	7000_4: 
	9500_5: 
	7000_5: 
	9500_6: 
	1_174: 
	2_174: 
	3_109: 
	4_49: 
	5_16: 
	6_10: 
	7_4: 
	8_2: 
	9: 
	10: 
	10500: 
	undefined_136: 
	12000: 
	undefined_137: 
	16000: 
	undefined_138: 
	900_42: 
	undefined_139: 
	900_43: 
	300_142: 
	300_143: 
	300_144: 
	300_145: 
	1_175: 
	2_175: 
	3_110: 
	4_50: 
	5_17: 
	050_50: 


